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Direction (1-5): #1= & 70 FifeT=hT st & T4 FANT a0 § Aq & T 5 T I=7
%WﬁWﬁW%IWW%WQ&WW%W?@%W
4 2016 — TatF T o= T JA1 & SIS qT2H GRT 9o TC Fof St a1 ,55% 2| Raisw Hir
AT § =T F 20% FH SISt Sd 99| TS gRT o9 T Jd & S HT q13% g7 o4 M0
SAT & SIS & 3: 5 FT AqATT gl AT T o0+ T Al S 7,722 8 3w a+ft 5 F9faat grn
= T AT & SEq sire 6,310 g

Fd 2017 — Tt 5 FATAT GRT o TU (AT 12 H 20% Ft iz BT & AT qT5% g1 99 T0
S[di & Sire e ag &t gaqr 7 ,20% it g gt g TS g7 9 T S[ai & Siie &7 AT
ST = T SAT 6 SE 8 23: 30 &7 AT 2 AT AT T o T Al 6 ST g0 9
TT Al & SE 92,040 F7 2| Tatd g1 o= [T Al 6 SIS g€ gRT o TC Sql 6 e |
2,236 9o 2|

Fd 2018 — fI=e a9 it TaAT § AT FT 99 T S[q1 & A1 § 30% Hi iz greft 81 Jee
FTRT o= T ST & SIS STe | AT T a9 T0 Al % ,40% 57 gl Rais T ufee™ grr o+
T AT 6 F SISt 16,900 T #A1T AT T o T JAT HT TISSTH T o= T AT 6 SIS &
3 : 2 T AAUTA Bl AT ST URSTH G oA [T S[Al % A STSLE(F < TS g a9
FA SIS AT g1 § 703,100 AT B

Q1. T 2016 ¥ ATSH FIET o= T AT & SIS FT a9 2018 H TR FIRT 9+ T Al & e o
ST ST I ToIT,

(a) 46:45

(b) 92 :89

(c) 92: 117
(d) 23 : 20



(e)2:1
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Q2. a9 2018 H AT=H, WA ¥ S AT 99 AT Al I 9 qedqray, , ¥ 2018 # ufes™
FTRT o T S[AT o SIS T a1 Taerd g7

(a) 125%

(b) 128%

(c) 121%

(d) 131%

(e) 117%
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)
)
)
)

Q3. 7 2017 & UReT S wET EWT A% T @1 F S0 AT 2018 At gy A% 0 &t
& ST2 | fohaar sfaera srfares a1 w7 872

(a) 782%

(b) 672%

(c) 87 =%

(d) 77 %

(e) None of the above.
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)
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)
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Q4. a9 2016, 2017 3fT 2018 H TIHT FRT a9 T Al & S(I il Ed HeAT ¥ a9 2017 H
Lateh ZIT o= T A1 o SIS A1 SAqL ATT I

(a) 2,877

(b) 2,856




(c) 2,821

(d) 2,809

(e) 2,896
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Q5. aF 2018 H FT 5 FUTHAT T a9 STH AT (AT SIS a0l S qear 99,2017 § 947 5
FATAIT G 99 T AT o STl 3iad FedT | fhaar sifee g2

(a) 1,927

(b) 1,952
(c) 1,968

(d) 1,089

(e) 1,903
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Directions (6-10): & & SITHHIT FT AMIAH AeTAT w90 3T Aot w1 & I
NEus

et a1 T -A 3T B 31T fhu 71 faht i Tmea &7 227 3| &9 Fad &l T &
IeqTE X 3R Y =T B

(Are: o o 9% carfed a9t SHreat =1 ST 9ahd ! & AT Jail)

re:

|. Troee = i gfqe fawa g7 x 9= T Tt A wen

. AT =TT — qY THTSAT T IUTeT 2 & o0 0T

. = % = total cz:t)]ic::curredx 100

TR A

3TTE X #F 3CATEH I¥ A ATl q0Td 18 79 wia e off1 24 ¥0F Wiq e a= 9% e
FTAT TS 1800 FFF 7| I7ATE X T FoehT 9% I A1+ 180 =. &Ml 31 Y &7 9 IfHe anra




T IeATE X i A A i qeer # 222% aftrw om senfaa serz Y A g gt
3/5 AT 3 Y AT 240 % AT S ey 22 2% F A1 gam

T B:

ITATTEd IATE X T THISAT 0l HE&AT, THF A FIRT IcATad Ica1e X &l AT § 20% FH o,
asft TN T S I I ATH 180% 2

45 ¥ T e i T | IaTad 3caTg Y ol THT 64 THISTT &l o= 9% AT 480 07 4TI

IcATE X AT FHT ZHR1SAT 6 fashl 9T ITH ATH, 312 Y il AT H 125% A8 =)

Q6. I X T THTTT T T&IT AT T A | g1 (ahd T &, THIT T g1 AT Y 6T a1
TS THRTSAT T FEAT HT FohaaT Tiderd 872

(a) 30%

(b) 35%

() 315%
(d) 275 %

(e) 325%
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Q7. ST IATE Y & FF ZHEAT il a9 9 THF A FRT IcAT(ed TS g F B 5T
31T X T FHT ZHSAT 6 IR § T AT & fovaer gfdera srfes a1 w9 872

(a) 300%

(b) 280%

(c) 220%

(d) 240%

(e) 260%
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Q8. T B  Torw Icq1@ X il Wi ThTs AT qod &l HHIT (A & o0 3cqT& Y il T ohls
T T & TITd ATT 70?2

(a) 28:45

(b) 24:37

(c) 35:53

(d) 14:15

(e) 40:53
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)
)
)
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Q. F=T FEqat it weft Tt F AT § TR A 3T T 0 3o AR $fw ST gt i
HT TR (AT § TR B T R TU FeT AR 6 HeT SqL S hifor)
(a) 320 %

(b) 340 %

(c) 360 &

(d) 380 =

(e) 400 =
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Q10. I THE A FRT ST IATE X T T s 9 g arell aerd 5 & 25% FH gid
AT 7g I a7 IATRA Y T X IRl § & TAF 6l 60 THISTT &l o= § qeA7 Bl ar i
STATET 1S9 T g A ZTT 6T 3T et a1 Foha=r gm?

(a) 65%

(b) 85 %

(c)9o =
(d) 80 &
(e)45 =
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Direction (11-15): f=forfad STl &7 eq M@ Teqa= ity T {1 70 0 9w o 392
o,

Rreeft 3 qrer st ¥ = e & [t warder, R R, drere s e
I TAF FUAT <Y ET3H Tied A1 < FAve iz A15e I § w9 3l §. WA & < e &
FH=TRRAT FY TEar e e § wH=TRA ff 9= F RET g Tt frravaee # arEe e
H FHATIET T AT TIEA § T v & F#AIET it 96417 F 40% ¢ i< fiauaua 7 € fwe
ST ATSe fAdE § FHATRAT F §&AT 5:2 F AT § §. TILA | T8¢ e § w1 i aret
FHATRAT 3T FTHEATS H T fAF § w1 FT qTer FHAATNAL 67 sfrqq geqr 380 g, Famw
e 7 @ e ® s FieThie | ATee v § st it et R e | e v §
FE FIA qTA FHATIAT it HEAT & FHA: 50% ATEF i 40% FH 8.

e oY # 197 F arr FHATRAT T T Feqr (I T froe sfie e faree ®) 2500 8.
St R el # arse e § w1 w3 arer FHATRAT HT G471 i TThiE A < e &
FTE FIA a1 FHRIT it T&IT TH &

Q11. =fz Rergs S # are fovwe § w1 w37 arer Eui w7 g9 Afgara & 3:2 F7 a1
g, @1 F1a oy &t Remds [ § s 9 § F1 F3 ar @9 HHAar fit gedm
FATSTHIA § T TATE F T FIA AT T FHATAL 0l FEAT 6 {oha e TIAAT 872

(a) 33;%

(b) 35%

(c) 30%

(d) 60%

(e) 50%
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Q12. AT § 2 1% § F1F Fd AT FHATIAL sl HEAT T ATHUATA § AT [97% H FHrd

FA AT FHATAT T T&IT | Toha T SIoTa g2




a o o0 N
W O g4 O,

(e)5:2
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Q13. fiTaTATe § T fOde O 1T F2 arer FHATIT A 7eq7 e [en § arse fowe o
FTH FLA AT FHHATAT & Fohae STera stfersn/wq 872

(a) 35%

(b) 43%
(c) 51%
(d) 47%
(e) 59%
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Q14. Ramas S 07 Tt § g3 e § w1 F39 arer FHarRay it siea |Jedr s
Frrar?

(a) 980
(b) 1080
(c) 1025

(d) 890

(e) 1060
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Q15. T % & FTT T aTr TIH ATAFH FHATAL ol H&AT 3T AT (% H AL T8 FH
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Solutions

S (1-5)

2016:

Let pairs of shoes sold by Nike are 100x.

So, pairs of shoes sold by Reebok = 100xx %
= 55x

Pairs of shoes sold by Woodland = 55x X %
= 44x

Pairs of shoes sold by ADIDAS = 100x x %

= 60x

ATQ,

Total pairs of shoes sold by all 5 companies = 6,310x 5
100x + 55x + 44x + 60x + 7722 = 31,550

259x = 23,828

x =92

Hence, pairs of shoes sold by Nike = 100x

= 9,200

Pairs of shoes sold by Reebok = 55x

= 5,060



Pairs of shoes sold by Woodland = 44x
= 4,048

Pairs of shoes sold by ADIDAS = 60x
= 5,520

2017:

Total pairs of shoes sold = 31,550 x %
= 37,860

Pairs of shoes sold by Nike = 9,200 x %
= 11,040

Pairs of shoes sold by Puma = 11,040 — 2,040

= 9,000

Let pairs of shoes sold by ADIDAS and Puma be ‘23x’ and ‘30x’ respectively.

So, 30x = 9,000

x =300

Hence, pairs of shoes sold by ADIDAS = 23x

= 6,900

Total pairs of shoes sold by Reebok and Woodland = 37,860 — 11,040 — 9,000 — 6,900
=10,920

Let pairs of shoes sold by Reebok and Woodland be (y+2236) and ‘y’ respectively.
So, y + y + 2236 = 10920

2y = 8,684

y =4,342

Hence, pairs of shoes sold by Reebok =y + 2236

=6,578

2018:

Pairs of shoes sold by Puma = 9,000 x %
=11,700

Pairs of shoes sold by Woodland = 11,700 X %



=7,020

Let total pairs of shoes sold by Nike and ADIDAS be ‘3x’ and 2x’ respectively.
ATQ,

5x — 16,900 = 3,100

x = 4,000

Hence, pairs of shoes sold by Nike = 3x
=12,000

Total pairs of shoes sold by ADIDAS = 2x

= 8,000

Pairs of shoes sold by Reebok = 16,900 — 8,000
= 8,900

Company | 2016 |2017 |2018
Reebok 5,060 |6,578 | 8,900
Nike 9,200 | 11,040 12,000
ADIDAS ]5,520 |6,900 | 8,000
Puma 7,722 19,000 ] 11,700
Woodland | 4,048 | 4,342 7,020

S1. Ans.(d)

Sol.

Required ratio = 2% _z
8000 20

=23:20

S2. Ans.(b)
Sol.

Average number of pairs of shoes sold by Nike, Puma and Woodland in 2018
— 12,000+11,700+7,020
3

=10,240
10,240

Required % = —— x 100
8,000




=128%

S3. Ans.(a)

Sol.
. 9,000+6,900)—8,900
Required % = ( ) x 100
8,900

7,000
=——x 100

8,900

7,000
=20
89 %

58
=78,%

S4. Ans.(e)
Sol.
Average number of pairs of shoes sold by puma in 2016, 2017 & 2018

_7,722+9,000+11,700
- 3

=9,474
Required difference = 9,474 — 6,578
= 2,896

S5. Ans.(b)

Sol.

Required difference = (
— (47,5620) _ (37,5860)
=9,524 -7,572

=1,952

8,900+12,000+8,000+11,700+7,020) (6,578+11,040+6,900+9,000+4,342)
5

S (6-10)

Shop A:

Product X

Number of units sold=% =75

Let the number of units produced that remains unsold be ‘@’

ATQ
180 = 1800 — (75 + a) x 18



a=15
Total number of units produced =75 + a

=90
Cost incurred on production of all units = (1800-180)

= Rs 1620
Proflt%— 5 X 100 = 11- %
Product Y
Per unit cost price of product Y=18 x % = Rs 22
Let the total number of units produced of product Y be ‘b’
250 240

ATQ —=3; x 100

11 EbXZZ
b =80
Number of units sold=80 x % =48

Total cost incurred on production of all the units=80 x 22 = Rs 1760
Profit per unit=% =Rs5

Per unit selling price of product Y=Rs 27

Revenue on selling all the units produced=80%27 = Rs 2160

Total profits on selling all the units=80x5= Rs 400

Shop B:

Product X

Number of units produced=90 x 0.8 = 72

Profit%=180% = 125% more than that of Y

Given, profit for product Y was = Rs 480

Then, Profit==-" x 480 = Rs 1080

Total cost incurred in producing all the unlts—% x 100 = Rs 600
Revenue=1080+600= Rs 1680

Selling price per unlt— = Rs

Product Y

Revenue=64 x 45 = Rs 2880

Total cost incurred on production of all the units= 2880-480=Rs 2400
Proflt%— 5 x 100 = 20%

Cost price per unlt— = Rs 37.5



S6. Ans.(c)
Sol.
Required %=£ X 100 = %5 = 31%%

S7. Ans.(e)

Sol.
Required %="——"""x 100 = 260%

S8. Ans.(a)

Sol.

Required ratio= 0.2% _ 28:45
3 64

S9. Ans.(d)
Sol.
Required difference =1620 + 1760 — (600 + 2400) = Rs 380

S10. Ans.(b)

Sol.

Per unit cost price of product X produced by shop A=18 x 0.75 = Rs 13.5
Total cost incurred=(13.5 X 90 + 1760) = Rs 2975

Total revenue generated=60 x 24 + 60 X 27 = Rs 3060

Profit=Rs 85

S (11 - 15)

Let total number of employees in Airtel at night shift = a
So, total number of employees in Airtel at day shift = 3a
total number of employees in BSNL at night shift = 14700 x 3a=1.2a

so, total number of employees in BSNL at day shift = g X 1.2a = 3a



ATQ,

Average of total employee in Airtel at night shift and that of in BSNL at days shift
a+3a
2
a=190

= 380

let number of employees at night shift in Reliance Jio = b

so, Number of employees in Reliance Jio at Days shift = 1.5b
and Number of employees in Vodafone at night shift = 0.6b
ATQ,

Total number of employees in Reliance Jio = 2500
b+1.5b=2500

b=1000

and number of employees at day shift in Vodafone = 1000

Telecommunication Day shift Night shift
operator
Airtel 570 190
Reliance Jio 1500 1000
Vodafone 1000 600
BSNL 570 228
S11. Ans(d)

Sol.
Total number of male employees in Reliance Jio at night shift = 1000 x S = 600
Required percentage = % x 100

=60%

S12. Ans(e)
Sol.



Required ratio = -5:2
228

S13. Ans(b)

Sol.

Required percentage = %;;;70 x 100
=== x 100
=43%

S14. Ans(c)

Sol.

. _ 1500+1000+1000+600

Required average = "

= 2100
T s
=1025

S15. Ans(a)

Sol.

Required Difference = 1500 — 228
=1272



